# ON SOME SMARANDACHE DETERMINANT SEQUENCES 

Julius Fergy T. Rabago

Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 15B05, 15A15; Secondary 15A60.
Keywords and phrases: Smarandache cyclic determinant natural sequence, the Smarandache cyclic arithmetic determinant sequence, circulant matrix.

Abstract In [1], Murthy introduced the concept of the Smarandache Cyclic Determinant Natural Sequence, the Smarandache Cyclic Arithmetic Determinant Sequence, the Smarandache Bisymmetric Determinant Natural Sequence, and the Smarandache Bisymmetric Arithmetic Determinant Sequence and in [2], Majumdar derived the $n$-th terms of these four sequences. In this paper, we present some of the results found by Majumdar in [2] but of different approach..

## 1 Introduction

An $n \times n$ matrix $C$ of the form

$$
\left[\begin{array}{cccccc}
c_{0} & c_{1} & c_{2} & \ldots & c_{n-2} & c_{n-1} \\
c_{n-1} & c_{0} & c_{1} & \ldots & c_{n-3} & c_{n-2} \\
\vdots & \vdots & \vdots & \ldots & \vdots & \vdots \\
c_{2} & c_{3} & c_{4} & \ldots & c_{0} & c_{1} \\
c_{1} & c_{2} & c_{3} & \ldots & c_{n-1} & c_{0}
\end{array}\right]
$$

is called a circulant matrix with circulant vector $\vec{c}=\left(c_{0}, c_{1}, c_{2}, \ldots, c_{n-1}\right)$. It can be seen easily that the given matrix is structured as follows:
(i) Each row is a right cyclic shift of the row above it. Thus, $C$ is determined by the first row $\left(c_{0}, c_{1}, c_{2}, \ldots, c_{n-1}\right)$.
(ii) $c_{k}=c_{i j}$, whenever $j-i \equiv k(\bmod n)$ for all $i, j=1,2, \ldots, n$ and $k=0,1,2, \ldots, n-1$.

In his paper, Murthy [2] defined the Smarandache cyclic determinant natural sequence and the Smarandache cyclic arithmetic determinant sequence as follows:
Definition 1.1. The Smarandache cyclic determinant natural sequence, $\{\operatorname{SCDNS}(n)\}$ is

$$
\left\{|1|,\left|\begin{array}{ll}
1 & 2 \\
2 & 1
\end{array}\right|,\left|\begin{array}{lll}
1 & 2 & 3 \\
2 & 3 & 1 \\
3 & 1 & 2
\end{array}\right|,\left|\begin{array}{cccc}
1 & 2 & 3 & 4 \\
2 & 3 & 4 & 1 \\
3 & 4 & 1 & 2 \\
4 & 1 & 2 & 3
\end{array}\right|, \ldots\right\}
$$

Definition 1.2. The Smarandache cyclic arithmetic determinant sequence, $\{S C A D S(n)\}$ is

$$
\left\{|a|,\left|\begin{array}{cc}
a & a+d \\
a+d & a
\end{array}\right|,\left|\begin{array}{ccc}
a & a+d & a+2 d \\
a+d & a+2 d & a \\
a+2 d & a & a+2 d
\end{array}\right|, \ldots\right\}
$$

Majumdar derive the explicit expressions of the $n$-th terms of the two determinant sequences: Smarandache cyclic determinant natural sequence and Smarandache cyclic arithmetic determinant sequence. In this paper, we present the same results shown by Majumdar and provide a much simple proof of the formulas for the $n$-th terms of the two determinant sequences.

## 2 Preliminaries

In this section, we state some important results found by Bahsi and Solak in [3] as part of the proof of our main results presented in section 3. We also state some formulas involving eigenvalues.

Lemma 2.1. The eigenvalues of the $n \times n$ matrix $C_{a, d}$ are

$$
\lambda_{0}=n a+\frac{n(n-1) d}{2}, \lambda_{m}=\frac{n d}{e^{\frac{2 \pi i m}{n}}-1}
$$

where $m=1,2, \ldots, n-1$.
Proof. see Theorem 2.1 in [3].
Here, the circulant matrix $C_{a, d}=\left[c_{i j}\right]$ where $c_{i j} \equiv a+((j-i) \bmod n) d$, and $a$ and $d$ are real numbers as defined by Bahsi and Solak in [3].

Lemma 2.2. For any natural number $n \geq 2$ we have,

$$
\prod_{m=1}^{n-1}\left(e^{\frac{2 \pi i m}{n}}-1\right)=(-1)^{n-1} n
$$

Proof. Let $\epsilon=e^{\frac{2 \pi i}{n}}$ be the $n$-th root of unity and consider the polynomial $X^{n}-1$. Then, it is clear that $1, \epsilon, \epsilon^{2}, \ldots, \epsilon^{n-1}$ are exactly $n$ distinct roots of $X^{n}-1$. Hence, we can express $X^{n}-1$ as follows:

$$
X^{n}-1=(X-1)(X-\epsilon)\left(X-\epsilon^{2}\right) \cdots\left(X-\epsilon^{n-1}\right)=\prod_{m=0}^{n-1}\left(X-\epsilon^{m}\right)
$$

But, $X^{n}-1=(X-1)\left(X^{n-1}+X^{n-2}+\ldots+X^{2}+X+1\right)$. It follows that,

$$
(X-1) \prod_{m=1}^{n-1}\left(X-\epsilon^{m}\right)=(X-1)\left(X^{n-1}+X^{n-2}+\ldots+X^{2}+X+1\right)
$$

And so we have,

$$
\begin{aligned}
\prod_{m=1}^{n-1}\left(\epsilon^{m}-X\right) & =\prod_{m=1}^{n-1}(-1)\left(X-\epsilon^{m}\right) \\
& =(-1)^{n-1} \prod_{m=1}^{n-1}\left(X-\epsilon^{m}\right) \\
& =(-1)^{n-1}\left(X^{n-1}+X^{n-2}+\ldots+X^{2}+X+1\right)
\end{aligned}
$$

Letting $X=1$, we will obtain $\prod_{m=1}^{n-1}\left(\epsilon^{m}-1\right)=(-1)^{n-1} n$.
Lemma 2.3. For any natural numbers $m$ and $n$ we have

$$
\sum_{i=1}^{m}\left\lfloor\frac{n+(m-1)-i}{m}\right\rfloor=n-1=\sum_{i=1}^{m}\left\lfloor\frac{i+n-2}{m}\right\rfloor .
$$

Proof. see Lemma 2.5 in [3].

## 3 Main Results

We now provide a much simple proof of the following theorem.
Theorem 3.1. The n-th term of the Smarandache cyclic determinant natural sequence, $S C D N S(n)$ is

$$
S C D N S(n)=\left|\begin{array}{ccccccc}
1 & 2 & 3 & \ldots & n-2 & n-1 & n \\
2 & 3 & 4 & \ldots & n-1 & n & 1 \\
3 & 4 & 5 & \ldots & n & 1 & 2 \\
\vdots & & & & & & \\
n-1 & n & 1 & \ldots & n-4 & n-3 & n-2 \\
n & 1 & 2 & \ldots & n-3 & n-2 & n-1
\end{array}\right|=(-1)^{\left\lfloor\frac{n}{2}\right\rfloor} \frac{n+1}{2} n^{n-1} .
$$

Proof. First we let $\left[d_{i j}\right]$ be an $n \times n$ matrix with entries $d_{i j}=k+1$, whenever $j-i=k(\bmod n)$ for all $i, j=1,2, \ldots, n$ and $k=0,1,2, \ldots, n-1$. Obviously, $\left|d_{i j}\right|=\left|C_{1,1}\right|$. Moreover, $\left|d_{i j}\right|=$ $S C D N S(n)$ for $n<3$. Now, for $n \geq 3$ we fixed the first row of $S C D N S(n)$ and apply the row operation $R_{i} \leftrightarrow R_{n+2-i}$ for $2 \leq i \leq n$. If $n$ is even, $n=2 l$ for some $l=0,1,2, \ldots$. Hence, we apply the row operation $R_{i} \leftrightarrow R_{2(l+1)-i}$ for $1 \leq i-1 \leq 2 l-1$. On the other hand, if $n$ is odd, we have $n=2 l+1$ for some $l=0,1,2, \ldots$. So, we apply the row operation $R_{i} \leftrightarrow R_{2(l+1)+1-i}$ for $1 \leq i-1 \leq 2 l$. It follows that $\left.(-1)^{\left\lfloor\frac{n-1}{2}\right\rfloor}\right\rfloor C D N S(n)=\left|d_{i j}\right|$. Then, from Lemma 2.1 and 2.2 we have,

$$
\begin{aligned}
(-1)^{\left\lfloor\frac{n-1}{2}\right\rfloor} S C D N S(n) & =\left|C_{1,1}\right| \\
& =\prod_{m=0}^{n-1} \lambda_{m} \\
& =\left(n+\frac{n(n-1)}{2}\right) \prod_{m=1}^{n-1}\left(\frac{n}{e^{\frac{2 \pi i m}{n}}-1}\right) \\
& =\left(\frac{n(n+1)}{2}\right) \frac{(-1)^{n-1} n^{n-1}}{n}
\end{aligned}
$$

Using Lemma (2.3) we'll obtain,

$$
\begin{aligned}
\operatorname{SCDNS}(n) & =(-1)^{n-1-\left\lfloor\frac{n-1}{2}\right\rfloor}\left(\frac{n+1}{2}\right) n^{n-1} \\
& =(-1)^{\left\lfloor\frac{n}{2}\right\rfloor} \frac{n+1}{2} n^{n-1} .
\end{aligned}
$$

This completes the proof of the theorem.
We now proceed to a more general form of the Smarandache cyclic determinant natural sequence.
Theorem 3.2. The n-th term of the Smarandache cyclic arithmetic determinant sequence, is

$$
\begin{aligned}
S C A D S(n) & =\left|\begin{array}{ccccc}
a & a+d & \ldots & a+(n-2) d & a+(n-1) d \\
a+d & a+2 d & \ldots & a+(n-1) d & a \\
a+2 d & a+3 d & \ldots & a & a+d \\
\vdots & & & & \\
a+(n-2) d & a+(n-1) d & \ldots & a+(n-4) d & a+(n-3) d \\
a+(n-1) d & a & \ldots & a+(n-3) d & a+(n-2) d
\end{array}\right| \\
& =(-1)^{\left\lfloor\frac{n}{2}\right\rfloor}\left(a+\frac{n-1}{2} d\right)(n d)^{n-1} .
\end{aligned}
$$

Proof. The proof is similar to the previous theorem. Consider the circulant matrix $C_{a, d}=\left[c_{i j}\right]$ with entries $c_{i j}=a+((j-i) \bmod n) d$ for all $i, j=1,2, \ldots, n$ and $k=0,1,2, \ldots, n-1$. It can be seen easily that $C_{a, d}=S C A D S(n)$ for $n<3$. Now, for $n \geq 3$ we fixed the first row of $S C A D S(n)$ and apply the row operation $R_{i} \leftrightarrow R_{n+2-i}$ for $2 \leq i \leq\left\lfloor\frac{n+1}{2}\right\rfloor$ obtaining $(-1)^{\left\lfloor\frac{n-1}{2}\right\rfloor} S C A D S(n)=\left|c_{i j}\right|$.

Then, from Lemma (2.1) and (2.2) we have,

$$
\begin{aligned}
(-1)^{\left\lfloor\frac{n-1}{2}\right\rfloor} S C A D S(n) & =\left|C_{a, d}\right| \\
& =\prod_{m=0}^{n-1} \lambda_{m} \\
& =\left(n a+\frac{n(n-1) d}{2}\right) \prod_{m=1}^{n-1}\left(\frac{n d}{e^{\frac{2 \pi i m}{n}}-1}\right) \\
& =\left(n a+\frac{n(n-1) d}{2}\right) \frac{(-1)^{n-1}(n d)^{n-1}}{n}
\end{aligned}
$$

Using Lemma (2.3) we'll obtain,

$$
\begin{aligned}
S C A D S(n) & =(-1)^{n-1-\left\lfloor\frac{n-1}{2}\right\rfloor}\left(a+\frac{(n-1) d}{2}\right)(n d)^{n-1} \\
& =(-1)^{\left\lfloor\frac{n}{2}\right\rfloor}\left(a+\frac{(n-1) d}{2}\right)(n d)^{n-1}
\end{aligned}
$$

This completes the proof of the theorem.

## References

[1] A. Murthy, Smarandache determinant sequences, Smarandache Notions Journal, 12, (2001), 275-278.
[2] A.A.K. Majumdar, On some Smarandache determinant sequences, Scientia Magna, 4, (2008), No. 2, 80-95.
[3] M. Bahsi and S. Solak, On the circulant matrices with arithmetic sequence, Int. J. Contemp. Math. Sciences, 5, (2010), no. 25, 1213-1222.
[4] J. F. T. Rabago, On sequences of numbers in generalized arithmetic and geometric progressions, submitted.

## Author information

Julius Fergy T. Rabago, Department of Mathematics and Physics, Central Luzon State University, College of Arts and Sciences, Central Luzon State University Science City of Muñoz 3120, Nueva Ecija, Philippines.
E-mail: jtrabago@upd.edu.ph, jfrabago@gmail.com

Received: January 23, 2013
Accepted: May 25, 2013

